Winners. K Stafford/S Handley (18) defeated H Wall/S Brown (15)
Bowral Bowling Club

Points for draw= 1.0

Points for a win = 3.0

ROUND 1 ROUND 2 ROUND 3 TOTALS
V's |Rink| F | A |M'ginfj V's |Rink| F | A |M'ginfj V's |Rink| F [ A |M'ginlelpi&aRVYEe (IR =Tl 4T}
2 K Stafford 1 2 259|164 | 3 276|213 | 6 23 20 1
7 H Wall 4 | 4 11913 6 6 6 (20|14 6 5] 3 |18 17
3 K Neely 8 3 4412 32| 1 5 126/ 9| 17| 2 6 |20 23
5 R South 6 5 125/10| 15§ 8 2 |22|14| 8 7 3 | 17|18
6 B Edwards 5 5 /10 25|-15§ 7 | 6 |[14/20 6 | 1 | 4 |18 14
4 D Coleman 7 4 (13/19| 6§ 2| 3 | 6|27 -21§J 8| 5 19|12
1 E Jones 2 2 /9|25 -16) 3 | 5 9 26 -17p 6 | 4 |14 18
8 B Crowley 3 3 /12|44 -32}y5 | 2 |14 22, -84 | 5 |12/19




